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Train आधारित प्रश्नों को ऐसे किें समझकि...आसान लगेगा

𝐋𝐓𝐫𝐚𝐢𝐧 + 𝐋𝐎𝐛𝐣𝐞𝐜𝐭 = 𝐬𝐓𝐫𝐚𝐢𝐧 ± 𝐬𝐨𝐛𝐣𝐞𝐜𝐭 × 𝐭𝐂𝐫𝐨𝐬𝐬𝐢𝐧𝐠

Master Logic:
मास्टि तकक :
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Train आधारित प्रश्नों को ऐसे किें समझकि...आसान लगेगा
For Vertical Objects – Pole, Electric Pole, Person, tree, Milestone

𝐋𝐓𝐫𝐚𝐢𝐧 = 𝐬𝐓𝐫𝐚𝐢𝐧 ± 𝐬𝐭𝐨 𝐰𝐡𝐢𝐜𝐡 𝐭𝐫𝐚𝐢𝐧 𝐜𝐫𝐨𝐬𝐬𝐞𝐬 × 𝐭𝐂𝐫𝐨𝐬𝐬𝐢𝐧𝐠
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Train आधारित प्रश्नों को ऐसे किें समझकि...आसान लगेगा
For Horizontal Objects – Platform, Bridge, Canal, Another Train

𝐋𝐓𝐫𝐚𝐢𝐧 + 𝐋𝐭𝐨 𝐰𝐡𝐢𝐜𝐡 𝐭𝐫𝐚𝐢𝐧 𝐜𝐫𝐨𝐬𝐬𝐞𝐬 = 𝐬𝐓𝐫𝐚𝐢𝐧 ± 𝐬𝐭𝐨 𝐰𝐡𝐢𝐜𝐡 𝐭𝐫𝐚𝐢𝐧 𝐜𝐫𝐨𝐬𝐬𝐞𝐬 × 𝐭𝐂𝐫𝐨𝐬𝐬𝐢𝐧𝐠
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A train 300 metres long is running at a speed of 25 metres per second. It will 
cross a bridge of 200 metres in:
300 मीटि लांबी एक टे्रन 25 मीटि प्रतत सेकां ड की गतत से दौड़ िही है। यह 200 मीटि के पुल को पाि
किेगा:

a) 5 s

b) 10 s

c) 20 s

d) 25 s
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A train 800 metres long is running at the speed of 78 km/hr. If it crosses a 
tunnel in 1 minute, then the length of the tunnel (in metres) is :
800 मीटि लांबी एक टे्रन 78 ककमी/घांटा की गतत से चल िही है। यदद यह एक सुिांग को 1 ममनट में
पाि किती है, तो सुिांग की लांबाई (मीटि में) है:

a) 200

b) 500

c) 300

d) 135
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The length of a train and that of a platform are equal. If with a speed of 90 
km/hr the train crosses the platform in one minute, then the length of the train 
(in metres) is:
एक टे्रन की लांबाई औि एक प्लेटफॉमक की लांबाई बिाबि होती है। यदद टे्रन 90 ककमी/घांटा की गतत से
प्लेटफॉमक को एक ममनट में पाि किती है, तो टे्रन की लांबाई (मीटि में) है: a) 500

b) 600

c) 750

d) 900
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A train passes two bridges of lengths 800 m and 400 m in 100 seconds and 60 
seconds respectively. The length of the train is:
एक टे्रन 800 मीटि औि 400 मीटि लांबे दो पुलों को क्रमशः 100 सेकां ड औि 60 सेकां ड में पाि किती
है। टे्रन की लांबाई है: a) 80 m

b) 90 m

c) 200 m

d) 150 m
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A train takes 18 seconds to pass through a platform 162 m long and 15 
seconds to pass through another platform 120 m long. The length of the train 
(in m) is:
एक टे्रन 162 मीटि लांबे प्लेटफॉमक से गुजिने में 18 सेकां ड का समय लेती है औि 120 मीटि लांबे
प्लेटफॉमक से गुजिने में 15 सेकां ड का समय लेती है। टे्रन की लांबाई (मीटि में) है:

a) 70

b) 80

c) 90

d) 105
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Two trains are running on parallel lines in the same direction at a speed of 50 
km/h and 30 km/h respectively. The faster train crosses a man in slower train 
in 18 seconds. Find the length of the faster train.
दो िेलगाड़ड़या समाांति पटरियों पि एक ही ददशा में क्रमश: 50 ककमी प्रतत घांटा औि 30 
ककमी प्रतत घन्टे की चाल से चल िही है. तज़े गतत वाली िेलगाड़ी धीमी गतत वाली िेलगाड़ी 
में बैठे एक व्यक्तत को 18 सेकां ड्स में पाि कि लेती है. तेज़ गतत वाली टे्रन की लम्बाई ज्ञात 
कीक्जये.

1. 80 m      

2. 40 m   

3. 100 m       

4. 110 m
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A train of length 150 meters, takes 10 seconds to pass over another train 100 
meters long coming from the opposite direction. If the speed of the first train 
be 30 km/hr., find the speed of the second train.
150 मीटि लम्बी एक िेलगाड़ी उल्टी ददशा में आ िही एक दसुिे 100 मीटि लम्बी िेलगाड़ी 
को 10 सेकां ड्स में पाि कि लेती है. यदद पहले िेलगाड़ी की चाल 30 ककमी प्रतत घांटा हो तो 
दसुिे िेलगाड़ी की गतत ज्ञात कीक्जये.

1. 80 km/h      

2. 60 km/h   

3. 100 km/h       

4. 110 km/h

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E02349

Train A crosses a pole in 25 sec and another train B crosses a pole in 1 minute 
and 15 seconds. Length of train A is half of the length of B. What is the 
respective ratio between the speed of train A and train B ?
एक िेलगाड़ी A एक खम्भे को 25 सेकां ड्स औि एक दसूिी िेलगाड़ी एक खम्भे को 1 ममनट 
15 सेकां ड्स में पाि कि लेती है. िेलगाड़ी A की लम्बाई B की लम्बाई की आधी है. िेलगाड़ी A 
औि िेलगाड़ी B की गततयों का क्रमश: अनुपात तया है.

1. 1:2      

2. 2:1   

3. 2:3       

4. 3:2
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A train crosses a platform in 60 seconds at a speed of 45 km/hr. How much 
time will it take to cross an electric pole if the length of the platform is 100 
meters ?
एक िेलगाड़ी एक प्लेटफ़ॉमक को 45 ककमी प्रतत घन्टे की चाल से 60 सेकां ड्स में पाि कि लेती 
है. यदद प्लेटफ़ॉमक की लम्बाई 100 मीटि हो तो टे्रन एक इलेक्तट्रक खम्भे को ककतने समय 
में पाि कि लेगी?

1. 80 sec      

2. 50 sec   

3. 52 sec       

4. 42 sec
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A 120 meter long train crosses a river bridge  in 30 sec  and crosses railway 
signal in 18 sec find the length of the bridge ?
एक 120 मीटि लम्बी िेलगाड़ी एक ब्रिज को 30 सेकां ड्स में औि एक िेलवे मसग्नल को 18 सेकां ड्स में
पाि किती है. ब्रिज की लम्बाई ज्ञात कीक्जये

a) 80 m      

b) 40 m   

c) 100 m       

d) 110 m
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A 100 meter long train crosses a river bridge 300 meter long  in 30 second , 
how many seconds will it take pass a telegraph pole ?
एक 100 मीटि लम्बी िेलगाड़ी एक 300 मीटि लम्बे ब्रिज को 30 सेकां ड्स में पाि कि लेती है. एक
टेलीग्राफ पोल को यह ककतने समय में पाि कि लेगी?

a) 15 sec      

b) 7.5 sec  

c) 10 sec       

d) 5 sec
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Two trains runs on parallel tracks. When running in the same directions the faster train 
crosses the slower train in 2 min 5 seconds. When running in opposite directions at 
speeds same as their earlier speeds, they pass each other completely in 1 min 15 sec 
seconds, find the ratio of the speeds of the trains.
दो िेलगाड़ड़याां समाांति पटरियों पि दौड़ िही है. जब वो समान ददशा में दौड़ती है तो तेज़ वाली िेलगाड़ी धीमी वाली
िेलगाडी को 2 ममनट 5 सेकां ड्स में पाि कि लेती है. जब वो उल्टी ददशा में उसी गतत से दौड़ती है वो एक दसुिे को
पूिी तिह 1 ममनट 15 सेकां ड्स में पाि के लेती है. िेलगाड़ड़यों की गततयों का अनुपात ज्ञात कीक्जये.

a) 1:4  

b) 2:3

c) 4:1 

d) 5:2  
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Two trains A and B are running on parallel tracks in the same direction. Train A which is 
coming from behind takes 50 seconds to crosses B completely. One person in train A 
observes that he crosses train B in 30 seconds. If the speed of the train A and the train B 
are in the ratio 2:1; what is the ratio of their lengths respectively.
दो िेलगाड़ड़यााँ A औि B समान ददशा में समाांति पटरियों पि दौड़ िही है. िेलगाड़ी A जो कक पीछे से आ 
िही है B को पूिी तिह पाि किने में 50 सेकां ड्स का समय लेती है. िेलगाड़ी A में एक व्यक्तत यह पाता है 
कक वह िेलगाड़ी B को पूिी तिह 30 सेकां ड्स में पाि कि लेता है. यदद िेलगाड़ी A औि िेलगाड़ी B की 
गततयों का अनुपात 2:1 हो तो बताइए उनकी लम्बाईयों का क्रमश: अनुपात तया होगा?

a) 5:3     

b) 3:5  

c) 2:3     
d) 3:2
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Next Class Topic

(Fri – 27 Aug)
ममश्रण का तनयम - एक िह्मास्र 
(हल किें कोई भी प्रश्न)
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